Grand Junction, Colorado December 12, 1922

The City Council of the City of Grand Junction, Colo, met in regular adjourned session, in full conformity with law and the ordinances, rules and charter of said City, at the City Hall in said city, being the usual place of meeting of said Council, at which meeting there were present and answering to roll call: President of the Council: W.G. Hirons, Councilmen; R.G. Miller, T.J. Hampson, and Wm. Murr. City Manager George Garrett, City Cler and Auditor Fred A Peck and L.W. Jordon, City Attorney.

W.G. Hirons read the following estimate of Strange and MaGuire Paving Company, in connection with City of Grand Junction Paving District No. 6. Said Estimate being Estimate No. 3 and the final estimate of said Strange, MaGuire Paving Co.

City of Grand Junction, Colorado

Office of City Engineer

Dec. 12, 1922

Estimate No. 3, Final Estimate of Strange-Maguire Paving Co. of Salt Lake City, Utah, on Grand Junction Paving District No. 6.

Total Quantities to be Paid Out of District Bonds:

<u> </u>	\$2,934.00
3844.6 lin. ft. Curb and Gutter @ \$1.00 per lin. ft.	3,844.60
1083.2 lin. ft. Single Curb @ \$0.63 per lin. ft.	682.42
7828.8 sq. yds. Concrete Pavement @ \$2.39 per sq.	18,710.83
yd.	
100.0 sq. yds. Concrete Pavement in street railway @	460.00
\$4.60 per sq. yd.	
378.1 cu. yds. Sand Cushion @ \$1.80 per cu. yd.	680.58
1.368 M. ft. B.M. Lumber for Headers @ \$95.00 per M.	129.96
3 Manholes @ \$70.00 Each	210.00
8 Catch Basins @ \$57.00 Each	456.00
183 ft. 8" Sewer Tile @ \$1.30 per ft.	237.90
Force Account Bill No. 2	529.95
Total cost of work done by contractor to be paid for	\$28,876.24
out of District Bonds	
Deducting amount paid in Estimates Nos. 1 and 2,	25,789.41
which is \$4,656.60 plus \$21,132.81	
183 ft. 8" Sewer Tile @ \$1.30 per ft. Force Account Bill No. 2 Total cost of work done by contractor to be paid for out of District Bonds Deducting amount paid in Estimates Nos. 1 and 2,	237.90 529.95 \$28,876.24

Total Quantities to be Paid out of Intersection Fund.

	\$1,512.00
1047.4 lin. ft. Curb and Gutter @ \$1.00 per lin. ft.	1,047.40
3409.6 sq. yds. Concrete Pavement @ \$2.39 per sq. yd.	8,148.94
4489.0 sq. ft. Cross Walks Removed @ \$0.06 per sq. ft.	269.34
1488.0 sq. ft. Cross Walks Rebuilt @ \$0.22 per sq. ft.	327.36
154.4 cu. yds. Sand Cushion @ \$1.80 per cu.yd.	277.92
1.32 M. ft. B.M. Lumber for Headers @ \$95.00 per M.	125.40
Force Account Bill No. 1	239.36
Total cost of work done by contractor to be paid out of Intersection Fund	\$11,947.72
Deducting amount paid in Estimates Nos. 1 and 2, which is \$686.70 plus \$10,085.63	10,772.33
Total due contractor out of Intersection Fund	\$1,175.39

Signed,

/s/ T.E. Thompson

City Engineer

I hereby certify that the foregoing final estimate of The Strange-Maguire Paving Co. on Grand Junction Paving District No. 6 is a full, true and correct estimate of the work completed by said contractor, to my best knowledge and belief.

/s/ T.E. Thompson

City Engineer

Attest:

/s/ Fred A. Peck

City Clerk

It was moved by Councilman Murr, seconded by Councilman Miller that the foregoing estimate of the city engineer be accepted, upon which motion the following vote was cast:

Those voting Aye: Councilmen: Hirons, Miller, Hampson and Murr.

These voting Nay: None.

The President of the Council and City Clerk were thereupon instructed to issue bonds numbered consecutively from fifty-four (54) to fifty-nine (59), inclusive, in the denomination of Five Hundred Dollars (\$500.00) each, and deliver said bonds to Bosworth, Chanute and Company, of Denver, Colorado, the lawful purchaser thereof.

It was moved by Councilman Murr, seconded by Councilman Miller, that the date of the final payment on Paving District No. 6 be December 26 1922. That all persons having claim should file the same with the City Treasurer on or before 7:30 O'clock P.M. on December 26 1922, and that the City Clerk be instructed to have such a notice published in the Daily Sentinel on December 13th and December 23 1922, upon which motion the following vote was cast:

Councilmen voting Aye: Hirons, Miller, Hampson and Murr.

Councilmen voting Nay: None.

The President declared the motion carried.

There being no further business to come before the meeting, it was moved by Councilman Hampson, seconded by Councilman Miller that the meeting adjourn. Motion carried.

/s/ Fred A. Peck

City Clerk